Question 1. Choose the word or the phrase or sentence that best completes each unfinished sentence below_________ air is one of the many problems we have to solve.
A. Pure
B. Polluted
C. Dust
D. Pleasant
Question 2. Choose the word or the phrase or sentence that best completes each unfinished sentence below
I’m disappointed _________ people have spoiled this area.
A. that
B. when
C. if
D. how
Question 3. Choose the word or the phrase or sentence that best completes each unfinished sentence below
We couldn’t go on a picnic as planned __________ it was raining.
A. however
B. but
C. because
D. so

Question 4. Choose the word or the phrase or sentence that best completes each unfinished sentence below
If he ________ hard today, can he have a holiday tomorrow?
A. works
B. will work
C. worked
D. would work
Question 5. Choose the word or the phrase or sentence that best completes each unfinished sentence below
The factory was accused ____ having caused higher level of pollution to the environment.
A. about
B. on
C. of
D. for
Question 6. Choose the word or the phrase or sentence that best completes each unfinished sentence below
The driver was ________.
A. serious injured
B. injure seriously
C. seriously injured
D. injured seriously
Question 7. Choose the word or the phrase or sentence that best completes each unfinished sentence below
You haven’t written to her_________, have you?
A. recently
B. never
C. late
D. recent
Question 8. Choose the word or the phrase or sentence that best completes each unfinished sentence below
The boy likes ________ games but hates ___________ his lessons.
A. play / study
B. playing / study
C. play / studying
D. playing / studying
Question 9. Mark the letter A, B, C, or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each question
We must admit that people are heavily polluting the environment.
A. decline
B. rebut
C. deny
D. accept

Question 10. Mark the letter A, B, C, or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each question
Most people admit that they contribute to global warming.
A. be partly responsible for
B. disapprove
C. neglect
D. cause
Questions 11-15. Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions.
The Amazon rainforest is home to more than a third of all the world's species of plants, birds and animals. Twenty per cent of all the birds in the world live in the rainforest. Scientists have discovered thousands of types of plants and animals that can only be found there. There are thousands - probably millions more that we haven't discovered yet. There are at least 2.5 million species of insects there. Imagine what would happen if they all lost their home? It couldn't happen, could it? Unfortunately, it's happening right now. Yet, the rainforest is big. But it's getting smaller. The problem is that people are cutting down the trees, mainly to make room for cows. These provide meat and make money for their owners. This process of cutting down trees is called ‘deforestation'.
The good news is that it is slowing down. In 2004, for example, more than 27,000 square kilometres were cut down. That's an area bigger than Wales. In 2006, because of all the campaigns to save rainforest, it dropped to just over 13,000 square kilometres. The bad news is that it's not enough. Scientists predict that by 2030, the rainforest will have become smaller by 40%. It's possible that by the end of the 21st century, the rainforest will have completely disappeared. With deforestation, thousands of the animals, birds, fish and plants that live in the Amazon rainforest lose their home, their natural habitat. Some of them move to other areas, but most of them die. Many species have already become extinct, and many more will if deforestation continues. That will change the balance of life in the rainforest and could cause enormous problems to the region's ecosystem.
There's another problem too. Trees and plants are a vital source of oxygen. If we cut them down, we lose that oxygen. But it's worse than just that. With deforestation, the trees and plants are burnt. This sends gases into the Earth's atmosphere, which stops some of the Earth's heat escaping. That then leads to the temperature here on the ground going up. This increase in the world's temperature is called 'global warming', and most scientists believe it's a very serious issue. If they stopped deforestation, it might help prevent global warming

Question 11. Which title best summarises the main idea of the passage?
A. Chances for owners of cow ranches
B. Threats to Amazon rainforest
C. Global warming effects
D. Habitat destruction
Question 12. According to the passage, which of the following is TRUE?
A. A fifth of all the birds in the world live in the rainforest.
B. 20% of all the animals in the world live in the rainforest.	
C. Nearly two million species of insects are found in the Amazon rainforest.
D. Nearly half of the world's species of plants grow there.
Question 13. In paragraph 1, the word "room” is closest in meaning to ____.
A. chamber
B. flat
C. area
D. studio
Question 14. In paragraph 2, the word "it” refers to ____.
A. room
B. process
C. rainforest
D. deforestation
Question 15. According the passage, which of the following is TRUE about Amazon rainforest?
A. It has become smaller by 40%.
B. The deforestation is decreasing.
C. 25% of animal species are extinct now.
D. The deforestation is under control.
Question 16. Find the word which has a different sound in the part underlined.
A. volunteer
[bookmark: _GoBack]B. committee
C. guarantee
D. degree
Question 17. Find the word which has a different sound in the part underlined
A. layer
B. frame
C. artisan
D. place
	
Question 18. Mark the letter A, B, C, or D to indicate the underlined part that needs correction in each question
Having been warn about the relationship between climate change and the spread of infectious diseases, everyone should get vaccinated.
A. Having been warn
B. between climate change
C. the spread of infectious diseases
D. get vaccinated
Question 19. Mark the letter A, B, C, or D to indicate the underlined part that needs correction in each question
Having denied the responsibility for the environmental it caused, the factory was forced to close down.
A. Having denied
B. responsibility
C. environmental
D. was forced to
Question 20. Mark the letter A, B, C, or D to indicate the underlined part that needs correction in each question
Humans now have to suffer the effects of global warming due to having treat the environment irresponsibly.
A. have to
B. effects of global warming
C. due to
D. treat the environment

